

January 5, 2024

Proposal# BLD-24005

Naudia Harty, PMP, MBA | Project Manager City of Hallandale Beach Public Works Department 630 NW 2nd Street | Hallandale Beach, FL 33009 | (954) 457-1630

RE: Proposal for BID # FY 2022-2023-020 I&I PHASE 2A LATERAL TELEVISING AND LINING PROJECT - Hallandale Beach, FL.

BLD Services, LLC proposes to furnish all necessary materials, labor, tools, equipment, supplies and the supervision necessary to perform the work outlined in the DESCRIPTION and the SCOPE OF WORK with the exception of those items that have been specifically addressed in this proposal.

Scope of Work: This work shall be performed in conjunction with the "PRICING SCHEDULE" and "TERMS & CONDITIONS" as outlined within this proposal

In response to your request, we hereby submit subcontract pricing for the above referenced project as follow:

Item					
#	Description	Qty	Unit	Unit \$	Total \$
A1	Recut lateral insufficiently reinstated by others	8	EA	\$700.00	\$5,600.00
A2	Protruding service connection removal by internal means	3	EA	\$690.00	\$2,070.00
А3	Install mainline/lateral connection repair system in 8-inch to 12-inch mains with 4- inch to 6-inch laterals, regardless of depth (includes 25 feet of lateral)	170	EA	\$4,570.00	\$776,900.00
A4	Install mainline/lateral connection repair system in 15-inch to 18-inch mains with 4-inch to 6-inch laterals, regardless of depth (includes 25 feet of lateral)	10	EA	\$8,500.00	\$85,000.00
A5	Install mainline/lateral connection repair system in 21-inch to 24-inch mains with 4-inch to 6-inch laterals, regardless of depth (includes 25 feet of lateral)	5	EA	\$14,500.00	\$72,500.00

Item #	Description	Qty	Unit	Unit \$	Total \$
A6	Install mainline/lateral connection repair system in 4-inch to 6-inch laterals, regardless of depth (per linear foot beyond 25 feet of lateral)	200	LF	\$125.00	\$25,000.00
A7	Transitional liner 6-inch to 4-inch	2	EA	\$750.00	\$1,500.00
A8	Lateral grouting (if required preparation for mainline/lateral connection repair system installation)	15	EA	\$250.00	\$3,750.00
A9	Point repair, laterals and 6-inch through 10-inch gravity pipe (up to 6 feet in depth)	30	EA	\$10,500.00	\$315,000.00
A10	Point repair, laterals and 6-inch through 10-inch gravity pipe (6 to 8 feet in depth)	10	EA	\$18,660.00	\$186,600.00
A11	Point repair, laterals and 6-inch through 10-inch gravity pipe (8 to12 feet in depth)	3	EA	\$25,890.00	\$77,670.00
A12	Point repair, laterals and 6-inch through 10-inch gravity pipe (greater than 12 feet in depth)	2	EA	\$51,300.00	\$102,600.00
A13	Install lateral connection to lined main (open trench)	45	EA	\$1,620.00	\$72,900.00
A14	Cleanout installation in grass area (up to 5 feet in depth)	5	EA	\$1,650.00	\$8,250.00
A15	Cleanout installation in asphalt area (up 5 feet in depth)	5	EA	\$2,100.00	\$10,500.00
A16	Cleanout installation in concrete area (up 5 feet in depth)	5	EA	\$2,400.00	\$12,000.00
A17	Cleanout installation (beyond 5 feet in depth)	20	VF	\$420.00	\$8,400.00
A18	Cleanout installation (open trench)	45	EA	\$450.00	\$20,250.00
A19	Asphalt roadway replacement	200	SY	\$42.00	\$8,400.00
A20	Asphalt pavement overlay (1-inch thick)	600	SY	\$33.60	\$20,160.00
A21	Concrete sidewalk replacement	60	SY	\$126.00	\$7,560.00
A22	Concrete curb and gutter replacement	100	LF	\$54.00	\$5,400.00
A23	Asphalt driveway replacement	1500	SF	\$11.40	\$17,100.00
A24	Concrete driveway replacement	1500	SF	\$12.90	\$19,350.00
A25	Replace concrete slabs and/or aprons	100	SY	\$120.00	\$12,000.00
A26	Sod replacement	2500	SF	\$2.58	\$6,450.00

Item #	Description	Qty	Unit	Unit \$	Total \$
A27	Sewer main cleaning and video inspection (8-inch through 12-inch)	2,000	LF	\$2.94	\$5,880.00
A28	Sewer main cleaning and video inspection (15-inch through 21-inch)	1,000	LF	\$4.20	\$4,200.00
A29	Sewer main cleaning and video inspection (24-inch)	500	LF	\$5.10	\$2,550.00
A30	Sewer lateral cleaning and video inspection from main (up to 30 feet)	230	EA	\$430.00	\$98,900.00
A31	Sewer lateral cleaning and video inspection from main (beyond 30 feet)	300	LF	\$5.00	\$1,500.00
A32	Sewer lateral cleaning and video inspection from cleanout (up to 30 feet)	10	EA	\$430.00	\$4,300.00
A33	Sewer lateral cleaning and video inspection from cleanout (beyond 30 feet)	100	LF	\$5.00	\$500.00
A34	Mechanical root or grease removal (12- inch and smaller)	200	LF	\$11.70	\$2,340.00
A35	Mechanical tuberculation/concrete removal (12-inch and smaller)	200	LF	\$30.00	\$6,000.00
A36	Bypass pumping (6-inch through 10 inch sewer)	5	SET- UP	\$2,500.00	\$12,500.00
A37	Maintenance of traffic -residential street	70	SET- UP	\$600.00	\$42,000.00
A38	Maintenance of traffic - FDOT or City arterial roadway	10	SET- UP	\$1,800.00	\$18,000.00
A39	Work in rear-yard easement	10	EA	\$1,200.00	\$12,000.00
A40	Expedited mobilization	3	EA	\$4,000.00	\$12,000.00
				Total	\$2,105,580.00

We appreciate the opportunity of submitting this proposal. If you have any questions, please do not hesitate to contact me.

Sincerely,

Mark Dalmau

Mark Dalmau Project Manager BLD Services, LLC